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In kOClOH‘S lCSSOI’I HOU are 90”13 tO use Hour knowledge Of moneg ITO O,dd cllfferent
amounts.

Brett has £6 and S55p.
Aljdsha has £2 and 55p.

How much money do they have altogether?

Annie and Alex are having pizza for lunch.

Tomato pizza £5 and 40p
Vegetable pizza £7 and 75p @
Potato wedges £1 and 79p
Cheese bites £2 and 83p

a) Annie orders a tomato pizza and cheese bites.

Howw much does it cost?

b) Alex has £10

She wants to buy potato wedges and a vegetable pizza.

Does she have enough money?

Explain your answer.



